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FE. (Part - ) (CGPA) Examination, 2015

ENGG. MATHEMATICS

Dy an Dot Tuscdy, £12:2015
Time 1000 8.m.101.00p.m.

SLR-KM -1

Instructions: 1) Attemptany three quections from each Section.

2) Figures to e ight incicate full marks.
3 Use ot Gakuttoric allowed.

2. 2) Fidthen® deratie y-

20
) Find he % derivative ofy = in 2 in 3x 005 4.

) ly e, prove tar
=% yn 2= (0% Mayp s 3= (2 + a7y =0

3. Atemptany three:
) Expand 36 + 26 - x+ 1 inpowere of (— 3,

) Expand (1427 upto thetem canining .
©) Expand og(sec ) up o the term containing .

im o +2000x 2

@ Evaae: 7

& o) Provernen 1537 B 2
B Saverte

©) Expand cocB ina sees o cosines of muitplesof 6.
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) Separate into real and imaginary parts of cos- {%]
o i
tan )

6. Anempthefollwing
) oo the olowing matx o nomal form and fnd s rark

3esy-12=0.4n-2y-32=0.2hxs dy + 220,
7. Anempttnefollowing

2) tx=uvandy = v enprove hat,
b) Find the sxreme vaives of 7+ 9 31y, 25 0.

©) Findihe possiti percentage emorin computing parallel rcicance of

veerestaces £ e .

escninanamorby 1%
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8. Anempthefollwing
) Obtin eigen values and igen vectorconecpording o smallest igen vae
of e matgiven beow 3
2
12
1 2

) Examine forneardependenos and o ndependence thefollwing et of
vectors [2.1. 4.10.1.2, [6. 1. 161 [4.0. 121 3
©) VeityGayly-Hamiton eorem fr the mairx A given below 3
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9. Anemp hefollwing
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) 2= Fix.y) and x = .y = 7 2 then prove that.

= e
ERe

=1
e

) lfu=iog(t + "+ then fnd the value
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